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5000
JR 4,684 1,077 1713 10.6% 23.2% 30 2.0
5000
JR 5,026 1,156 186 10.6% 23.2% 20 750
5000
9,794 2,253 362 25.2% 14.6% 30 190
500
5000
787 181 29 5.3% 14.6% 30
5000
2.0
237712 5,468 880 57.2% 27.2% 50 500 R
5000
22,982 5,286 45.3% 27.2% 50
5000
JR 6,378 1,467 236 13.6% 27.2% 10 2.0
5000
JR 1,448 333 54 29.3% 5
5,000
JR 156 36 6 22.5% 5 %0
5000
JR 2,326 535 86 22.5% 10 2.0
5000
JR 2,414 555 89 16.6% 30 190
500
5000
465 107 17 0.0% 27.2% 50
2.0
5000
1,592 366 59 10.3% 27.2% 40 2.0
5000
8,620 1,983 3819 15.1% 27.2% 40
5000
3,044 700 113 12.6% 27.2% 30 50
5000
5,160 1,187 101 6.8% 27.2% 30 50
2.0
@7 )
397
500
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